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m PRACTICA DIRIGIDA N° 07 d) -20 e) N.A. =
m Calcula: 6) [—81x-/—49 g
) a) 15 b) -63 c) 63 m |
Q D= d) 81 ¢) NA.
2) jlz52 _ (7 ;]
J 3) #25 - 7) 5./~ 36x4.-64 5.';
\< 4) 202381 = a) -960 b) 180 c) 560 :
5) jlecazs B d) 48 e) -48 z
6) v - |~
) 8) \-8x+/-2 >
e = a) 4 b) -4 c) -8 =
93 - 9) \[-49 x /-4 x-/-9
a) 42i b) 42 c) 42i
Simplifica: d) 42 e) N.A.
1) =4 ++/-16 10) Resuelve:
a) 6i b) 4i c)8 (3-4 \~D(5-/~9)+29i
d) 10 e) N.A. a)l b) 2 03
d)4 e)5
2) \J-25+-/-81-./-49
a) 9i b) 8 c) 7i 11) Resuelve:
d) 4 e) NA. W2 +V=5)W/3 +V-2)- (/6 +V-15) + 110
a) 2 b) 2i c) -2i
3) 2./-9 +3./-100 d) -2 e) NA.
a) 36i b) 18i c) 24i
d) 25i e) NA. 12) Resuelve:
B+4/~2)(5—+-2)-2./2i
4) 3./-64 —5./—49 +3./-121 a) 13 b) 14 c) 15
a) 22i b) 16 c) 14i d) 18 e) 17
d) 63i e) 74i
13) Resuelve:
Multiplica: (4+7+[-1)(=3—+/—4)+ 2%
a)l b) 2 c)3
5)\—16><\/—E d)4 e)5
a) 20 b)9 c) 20i




14) Simplifica:

E_1+| 1-i

8

=t ——

1-i 1+ @+t
a)l b) 2 c)-1
d) -2 e) -3

e @+i)°
15) Simplifica: F = 5
1+i
a) 16 b) 2 c) 10
d) 8 e) 13
16) Efectiia:
P = (5+3i) (4-2i) (1+1i) (6-7i)
a) 120 b) 240 c) 340
d) 440 e) N.A.
\
CLAVES DE RESPUESTAS

1) a 2) ¢ 3) a
4) a 5) d 6) b
7) a 8) b 9) ¢
10)c 11)b 12)e
13)b 14)d 15)a
16)c
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